The Quadratic Formula (8.2}

Example 1: Complete the square to solve ax” +bx-+¢ =0
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Formula: The Quadratic Formula (MEMORIZE)
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a.} The solutionsto ax” +bx+c =0 for a#0 are given by x =

2a



Example 2: Solve using the guadratic formula

a.) 3u’ =8u-35 -:;) 3 ..LLL — Sy e 5 o N

ChoT S T ez o
> 5  Ap= &+ Jbg - 4o 25($)
b= -8 ' '
T 3)
. & _
“ @ x5
&
= 21
2 L= ,é,_ <ad” W
b) x*+6x+4=0 s
et o —ex T Goion
A 2L
e = & & x \}Z.D
. 5
R
Z,

c) vi+13=6v

S Vvt 1l =

- U= et V2o - yuyyzl

2 )
- L xJle
Z
- bE Yl
g2



Method: To solve a guadratic eguation

a.) If the equation can be easily written in the form ax” = p or {x+ k)2 =d , use the principle of

square roots as in Section 8.1.

b.) If Step (a.) does not apply, write the equation in the standard form ax” +bx+c=0.

c.) Try factoring and using the principle of zero products.

d.} If factoring seems to be difficult or impossible, use the quadratic formula. Completing the
square can aiso be used, but is usually slower.

Note: The solutions of a quadratic equation can always be found using the quadratic formula. They

cannot always be found by factoring. a
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Example 3: Solve ax 1. e
a.) 4x+x(x-3)=5
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Example 4: Solve x* +1=0 {find al! solutions).
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‘Exampte 5:let f(x)= 3;x

and g(x)wzl;. Find ali x for which f{x)=g(x).
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